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The Mmwn in the beginning of the second P15 tells us that a man can initiate the pwyTp by
himself or through a 9w, and similarly, a woman can accept w1’ herself or through a nbw.
Additionally, if a man marries off his daughter when she is a N7y, he can do the PwyT{» himself or
through a nbw.

Asks the 813, once we know that a n*5w can be used for pwyT°p, why do we need to teach
that the man himself can do it? Q01 23 explains that this teaches us the 1 of Ymbwan Ny 12 Mxn,
that it’s better for the person who is 21 himself to do the nyx¥n than it is to have it done through a
n'5w. The ) gives examples of where we see this principle, both in the realm of naw ma23. The
NI then offers an MR T XX that suggests that it is an 999R for a man to marry a woman without
seeing her, since he may find a n31an 927. This would be a violation of 713 7»75 nanr. Therefore,
when qOY 17 says it is a MxN to do it yourself, it refers to the woman. In this case, there is no YR
for the woman to marry the man without seeing him, because of Y¥9nIR anm5n 17 10 anmb 2v, it's
better for a woman to be with a partner than to be alone. ¥4 points out that seemingly, the woman
can use a N9, even though she facilitates the man’s doing an 170’R by not letting him see her! "4
isn’t so bothered by this, because the N1wn is teaching the 17 of her role in the Wy, in which there
is no MR to use a NHY.
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The 1™ points out that there is a mx» for a woman to do pwr7’p herself, even
though she isn’t na»n in 1271 179, because she supports the 1x0 1wy of the husband.
This would mean that there is even 1mowap 1712 13 M¥H 0N XN 1375 Y100,

Asks the 371, by sending a n*>w in her stead (or accepting w1 1’p from the
25w of the husband), she facilitates a 1722y nwyp of the husband, and should be over
71y 2205! Rather, as the 811 tells us at the beginning of the 8oy, it’s not the 717 of
a woman to go out to the man, but for the man to chase after the woman. Therefore,
she is not expected to make sure that the man does what he is supposed to do. If a
nrow shows up, the man can still go to the woman himself.

The 87av»1 establishes w7 to be talking about a case where the man has
previously seen the woman, but the woman has not seen the man. In this case, he no
longer has an 711028, but she still has a x».
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maomn points out that we did not limit the niwn to be discussing a case of
where the husband knows her (which would explain how we can have a scenario of
IMOSYaN N 12 MEN even N NNIY), because we have no right to assume that the
mwn is talking about a limited case. If it’s talking about the more overarching scenario
of whether he knows her or not, then we would only know that he needs to be wpn
her by himself only when he doesn’t know her, but maybe there is no problem of using
a n*Yw when he does know her (and the 919°® wouldn’t apply).

The "W/ elaborates that since there is no 7110’8 to begin with in the K90
(since we are talking about the woman), we can now learn out that there is nevertheless
a mxy» for her to do the pwr1p in lieu of a n5w.
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The nawn tells us that a man can be wTpn his daughter when she is a N7Y), and the X1y infers
that this would not be the case when she is a n19p. This goes like 29 (or 9TY5R 27) who says that the
girl must be able to choose who she marries.
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mavin says that we can’t say that the n3wn wanted to teach that the father
can even marry off a N7y (and certainly a nvp) because the N1wn specifically made
the point of teaching the 17 of Ny (either through saying N7y X’nw) or by teaching
191 as opposed to nno).

When it comes to a nY17) who we’re not worried will retract, we say that she
gave in because 17 1V anmY 2v, but a NVP may ultimately NOT want to marry the
guy, yet she was never able to protest the P 1W.

However, maovin points out that we marry off mavp because of the
circumstances of M), and better that she gets married now while she still has a dowry
(even if she doesn’t agree to the marriage) than she should grow up and they won’t be
able to provide a dowry.

How do these circumstances get rid of the 170°8? The 12 i jar 9oy n2a
explains that the 710’5 stems from 705 7072 137K, and the circumstances dictate that
it’d be better for her to be married than to remain an 82209, SO 7109 V15 N37N)
actually tells us to marry her off.
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The X3 now tries to find the source for the 17 of MINYYW in our nwn (i.e., that it works for
1PWITP) and learns it from Pwy1). We can’t learn pwiyTp from Wi (as a paradigm), because pwi
can be done nnA3 Yy3, so of course it can be done through a n*Yw. Rather, we learn from the wpn
of nn M nrx", which tells us that we learn various 0227 from PW17) to PWVIT'P, and vice-versa.

"9 implies that there s an inherent connection between the fact that the
w1122 can be done n1> 5ya and that you can use a n»sw. What is this connection,
Le., what is the nature of mn»ow and 5"va that we connect them? The WX 190N
explains that 5"va means the 7wy» can be done easily, so that allows one to appoint a
25w as well. pY¥IRIRD 377 explains from p»n 37 (based on .7y mains movoin) that
a 5w can only be appointed by someone who is a 0’5va on the nwyn. He thus
explains the 8701 85pW in the attempted 11025 from pwr1%) to pPYITP to be saying
either:

1. The husband is more of a o’5v3 on w132 (since he can do it without the wife’s
consent) than by pwr1p, so you can’t learn mn?sw to pwrvp.
OR
2. The mn2bw of w1122 is unique in that the WOMAN can appoint a (75375) n?ow
even though she is NOT the pr5va. Since this nn»ow is unique, we can’t learn it

to other areas of 1357.%

'®* My ®ny1an, Zach Schreiber, asked the following question: How can the :Xn ®713 learn the 17 of mnYw by nmn from
1PW117 and DwTp, if the MNYYw of pPwi is fundamentally different? Rav Hershel Reichman 805w answered that granted
her mmn5w is fundamentally different, but his is like any other nin>w. Therefore, we can learn HIS min»bw as a paradigm
to other areas of n3%n, but not HERS.
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a. In fact, Rav Reichman added that the n»5w of the 5v2 can appoint a n’>¥
in his stead because he is acting as the p’5ya. However, the n»5w of the
woman can’t appoint a n»s>v, because the woman is not the o’oy3. He
connected this to the idea of the 77 mooin that the woman instructing
the 5w to accept the v is only 520, and we hold 55 11000 85 290,
The 1771 mooin explains that whereas the husband gave his n?>w the 8yon
of the vy, the woman didn’t give her n’5w anything. See further in Y%
0.8 Y JaR with V2 SN 1122 and other D253 'NY)).

b. As an aside, o»’n 37 proceeds to explain that this is the 7107 of 5w N
71773y 1375, namely that we are not D’o¥3 on 1723y, or by nnyp in
general.

The ®1) notes that the concept of mn>w, while learned from the context of w7, is also
mentioned in the nywn by nman. At first, we want to suggest that we should learn nman from
10177 but reject the 7199 on the premise that 1117 is YN relative to nmn. Rather, the source for
MmN is DR D) DnR. We then suggest that P02 and Wy should be learned from nman but reject

that 7325 on the basis that designating nnyn can be done through mere nawnn.?

Now, the X 13 brings another 17 of mnYHw, this time in the context of noa j27p. We try to
learn the source of this 17 from WY’y and NN, but they are both Y n relative to o*wTp. Rather,
NP 12 ywin 227 learns the source of MNYw by DwTp from 121 HRIW NTY Hp Y3 IMIR YONWY”.
We then suggest that v, PWITP, and nMn should be learned from D*w7p, but we conclude that
DYWTP is unique in that 5w »"y 1PVYN 297.
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2 Since NN can be done through nawnn, it is considered a Ypn nwyn. Based on the approach of w”xX9n Mmoo, and
PYRMRYRD 27, it makes sense why we suggest learning myn'ow from nnyIn.
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w1 pointed out that we learn the idea of n5w nWY NYw from the fact that
the D104 repeat the word nn5w1. However, maovin asks that one of the 2 times the
DY108 say NNYW1 is needed to teach the 17 of NIrIn N1RY NnYwn! Rather, since the
second nnYwy wasn’t really necessary, we can say both nY®3 and nnbw1 can be used
for mw37. From nYwy we would say n3min 7Ry nnSwn (since the first nnYwy would
teach the 17 of mnYYw), and NnYwy would teach NYw NWY NHY.

Another answer that 200 brings down is that of Y8 13729, who says that
since the second nnYw is entirely extra, we can use it to learn all 3 mwAT, from the
base word, the , and the n.

mavn comes to address the source for the o™y w of the 3 categories of
giving nman. The N7 n doesn’t give any Myrw, as 7137 N*wRY implies any amount. The
2.7 MNYIn MmOV gives us the 3 1YW, The average 7y of 1/50 comes from the
VO NN by the spoils of 1, in which the Jews (who received half of the spoils of
war) were instructed to give D>wnnn 11 1INR TNR. From the extra word 1N, we say
that any n1'nR (done as a separation) should be 1/50.

The o in YRprny says in the context of giving a NMan that it should be
"DYIPVN ININD NARN DNPWYI DYONN IMNN N9RN NwY”. To get to 1/6 of an YR,
we have to convert a 9N into 30 NRD. An YR is 3 1RO, which means that there are
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10 DO in a 9IMIN. 1/6 out of 10 is 1/60 (or we can measure as .5 NRO out of 30), which
relative to 1/50, is a nY7 NN,

To get to 1/40, the DS says Dn*wwI, which means we add 2 amounts of 1/6
of an na*X over the o*on 9NN and 1YY ANIN. This amounts to 1 RV out of 60. If
we add the previous .5 NRD, we nhow get 1.5 RO out of 60, which totals 1/40.

Turning to :8n, we pick up in our discussion of a N*Yw being b n for the
2”nya. In using different 0™1Y*w, the n1wn uses the NWH of Nnvy, he decreases. w1
explains that nn»a is about 1/40 (which is more than 1/50). Therefore, it means that the
nYw DECREASED the RETURN of the 2”nya since more nman was taken off. The
D*wI9Nn W say differently, that nnra means 1/60, and it’s going on the nman itself (i.e.,
there is less NN being given to the jn2).

Either way, the nawn tells us that if the n*Yw was ’» 9010 IR » NNy, i.e., he did

AGAINST the owner’s intention, it works regardless.” However, there is a 823 R90)
.25 Ry*¥n that if the owner says ma» S¥R 793 to the 5w, then if there are ma
available, what he did was good, but if there are not ma» available, then the nman is

not good!"™ The m5'n is that people will be a bit more generous in QUANTITY, but
not in QUALITY. Therefore, if the n'5w separates 1/40 and he assumed the 1"nya
would do that, the 2a"nhya can’t rebut his assessment.

We reject the 712°5 from w197 to N1MI1IN on the grounds that w17 is more
5p in that it is 1. Why do we not say that 1>y is more Yp in that it can be done
M3 Ypa of the woman? maoIn answers that we now see from pPwy1p that nnd Yya

is not a determinant in learning the 11y of mmHw.»

Even though we cannot learn min’5w by PvY1°p or PWII from NMIIN, we can
in reality learn pwyTp from both Pwy1) and NMAN through the Mmwn T8. However,
nmaomn says we would rather learn w11 from NNy PR because NXNNY WP PR,
and we need nn M nR¥N for other MW7 (see .n).
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 The n,Ynn between »w1 and the D)w9n © is: What is the bigger wi1m? According to » w1 that nn»a is going on the
2”nya (the n'Yw gave more than 1/50 to NM1IN), and nevertheless it’s still valid, the greater wy7'n is being taught in the
mwn before the lesser w171 (Which is not normal).

"1 This assumes that saying n19> 92X 995 when there are n19> means you should’ve taken better fruit, but this is obviously
okay. On the other hand, if there is nothing better (he took the best), it’s a sarcastic remark, meaning he should NOT have
taken such good stuff.

'™ We now have to figure out why the 8713 didn’t answer that nnIn has nin>w even though it isn’t 112 Yya. See the
next MaviIn.
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N3P 12 YW »a1 learns the source of MNYw by owTp from 93 IMR YO
YR NTY Hnp. Asks meaomn, why did we not learn from the nRvn 95 of 197X on
9”1y, in which the 7104 says 19 9WR NRVNN 99 NR VNWY, teaching that normally nvNw
does NOT need to be done by the n»Yya?

We might’ve thought that had this pyoa been a paradigm, it would only work
to teach us that you can use a n*Yw for a nRVN because a NRVN can be brought Yya
115 of the owner. We already know that 1195 5ya indicates we can have ninYw, but
we wouldn’t know to extrapolate that 17 to other n123p which CANNOT be brought
9”pa until ANIP 12 YWIN’ 227 came along and learned from noa ja9p.

The 8" first explains that we can’t use )18 5® 119 as a paradigm to say
that we always need proya »"v 7v°nY, because we always assumed that you need p’5ya
(until we learned that you can have a n»>v), so the 7109 wouldn’t be adding anything.

In the second piece, he says that n19oin’s assertion that a nNOn can be brought
53 Is actually against the 227y X102 which says that we DO NOT bring mavn against
the will of the owner, but we can by o'n5wr moip, because the 7109 says 1N 327!
Rather, the fact that we CAN’T force the 5ya to bring a nxvn is what allows us to
have a n’5w, because if we can force him, then he loses his n15va on the matter, and
thus loses the ability to appoint a n’>v.

100 M DWTPA RINNT 21021 RY 21PN 0 ANINN RN N ,RNR R RTNN RN
199 7Y NN 1NN MM PWITIA RINNT 1IN RY .DWTH YR YN 1w 199 7Y n
NY DNR D) DNR RORY 17D 10N NP NN RINDIT 2IN2Y RY ROR .Navnna Y
92032 DOMYY R ;N2 %32 DNR NN - DNR D) R 97RT R 1279739 799 opam 9
PR AN 978 RAR 92 RPN IRT ,RPAI 1INY 9K RAR 92 RPN 2970 2RIP 0D 7nd K1
,TI0XR TPVITP PO NN IRY 'Y NYWR YW 19Ya TN 03 Yaph MHY VYl Tayh
,VAIT NMIN NPIPRY DIRIN 022910 T2 AR 590 RN RPN 92 IRDT T72Y RINAR 70
95119 Yynwnp 1Y Nl OV RIIR ,NNIIN INNIIN - ININY XM DN TIVN N7
D) DNR ;7019 W™ ,wNN 7YY 1P27M DYRTA 02200 T2V NMIN NT ,I09T PYnY
DNR ,PAMY RYY - DNR ,POMIR RDY - DNR 290 I0RY DIRIN R7T0 ,PIONR 299 nh onr

5P N1 oMYV RYY - DNR RIIR 1DW I1RY NR 0NN RYY - DNR ,DINTVIAR R -

>n)

( )
. 6 )




PEY?P Hopn 7"'03
7"DED H") DI 1790 E9 M2dH ©Dh
DYVTPY 1N 19V Y9 RY 51N RNYW AMIN MYV WY VTP 1Y DVTR AN - PN nom
DOWTP NMIN YRR HIN W 190 PV NIV PWIT YV Y DRYYYN 217 DV

NN RYAR IR R IMINI IMOVWI INXY MY WY DAY MWD TN TN T IO

MY PPNy HRIYY PIRA 022210 TAWY 17IP PR 720pT DY TORY - MmN INman
2T N AT TN RAYV 1Y P9 (TO 9T) MIMINDY IMIND N 010 IR 012D T2
1275 ROR VYN INR VIPIN PRI D210 T PIPT OVIYND

NI0IR PYIND 1Y9) DR - NYNTN
ANV NYIIRD - VNN HY P

PPT RDY TN 1Y 99N NN 2N 022210 TIPN MIN PR I20PT - TV PYNRY N
227X INY PINNT VYN INR VPN RIY PTTH (/107 DY) MNINA D291 T2

Having concluded that we can’t use one of these categories as a paradigm to teach nin’5v, the
R how suggests that the N7 0 should have only written 2 categories, and use them as a paradigm to
teach the last one. First, we try eliminating D>w7p, but we realize that doesn’t work because w117
and nman are considered 70 relative to DwTp. The XN then tries to eliminate w773, but it doesn’t
work because 1Pw17% cannot be done nawnna. The Ry successfully eliminates Nn17N, saying we can
have pwi173 and 0w, and successfully derive the 171 of mNYow by nman (through the mMwn T, as
"7 points out). If we can successfully learn out nman, why do we have a »1oa of onR ny? We need
it for the rule of *Ry> »a that just as the nYwn is a "n’1a 12”, so too the MHYw must be a "n»a ja2”.
What’s the wy1'n of this rulez We have a principle that an 72y cannot be a woman’s n’5v to accept
her v because he’s not PWVIT'PY PV} NINA. Seemingly, that rule should apply here as well! Rather,
since the niwn tells us that a »1 is 2N in YN of his own produce, we would think he can then be a
YW to take off NN for a Jew (since he is NN N7IN2). Comes DnNR D) DR to tell us that the
n5w must also be a n1a j2. However, 1ynw 27 argues with the p”n of that n1wn and holds that o»3
are NOT p2a»n in nman. In that case, why does he require the »109? If we just had onx, we would
exclude any workers from taking off n1n317n, so | would think a n*>® would also be excluded. Therefore,
DnR D) teaches that we include a nHw.
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maoiIn provides the sources that nmMIN and D*wTj are done nawnna.
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"7 understands that the nnIN of a " is valid (according to the p”n). This is
because the » is not Y'pan the yIrn nwITP, nor does his M’ exempt the NMIN,
based on the ma1Y VYN INR VYN of 7137 being written twice. The nN”pay of the
nmn being Yn is the ©»1Y 710X (as was mentioned in the beginning), as well as the
ability to be a ynTn any pYn it falls into, and the 21 to pay a wnin for eating Mwa.
However, 1ynw 223 holds that M m of a " exempts the nman, from the fact that
the 709 says 717, and there is no VYN INR VIYN.

This interpretation of »”w1 implies that the p”n and w™ argue if a 1 by an
D”9Y in HYR7W’ PR can be Y’pan the n”7n 21N, However, there is a DYRMNIR NN
in V7 about this, and it’s difficult to say that 0'&71IR are arguing over something
which the n'Rin already argued about! Therefore, the » explains that even if the pn
holds that a "3 can be y>pan the n”1n avn, the produce can still be 21 in NN if
the first third grew under the possession of a Jew. Alternatively, the Jew did the nmym
and then sold it.

Alternatively, n™ suggests that even if a Jew bought it from a » and it would
be mva (because it has to be 7137), we can say the Jew did the m7'n after he bought
it. However, this is difficult, because we’d have to explain why " says this would be
va! As we see from the o'nar X3 by nYyn, the ,oa clearly says that a "3 does
not separate NMIN. Therefore, even if the Jew does the M, it would first have to
have been designated by the »3, which does not work.




